
MATHS

BOOKS - EDUCART PUBLICATION

SAMPLE PAPER 01

Part A Section I

1. If xy= 340 and HCF(x, y) = 20, then find the

LCM(x,y).

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_i8UkPFCyHck4


2. If xy=180 and HCF(x,y)=3, then find the

LCM(x,y). 

The decimal representation of  will

terminate after how many places?

Watch Video Solution

14587

21 × 54

3. If the sum of the zeroes of the quadratic

polynomial  is 3 ,then find the

value of K.

3x2 − kx + 6

https://dl.doubtnut.com/l/_i8UkPFCyHck4
https://dl.doubtnut.com/l/_A5beluwX6Nx1
https://dl.doubtnut.com/l/_32IbsaBMmQpy


Watch Video Solution

4. For what value of k, the pair of linear

equations 3x+y=3 and 6x+ky=8 does not have

solution.

Watch Video Solution

5. If 3 chairs and 1 table costs Rs. 1500 and 6

chairs and 1 table costs Rs.2400. Form linear

equations to represent this situation.

h id l i

https://dl.doubtnut.com/l/_32IbsaBMmQpy
https://dl.doubtnut.com/l/_Cbn8sUiKV92q
https://dl.doubtnut.com/l/_m2JlcIQGi7rh


Watch Video Solution

6. Which term of the A.P. 27, 24, 21,…..is zero?

Watch Video Solution

7. In an AP, if d = -4, n = 7 and  = 4, then a is

equal to

Watch Video Solution

an

https://dl.doubtnut.com/l/_m2JlcIQGi7rh
https://dl.doubtnut.com/l/_3xU8KQMSWuUv
https://dl.doubtnut.com/l/_3l3wgogNntyP


8. If the equation  has

equal roots then k=?

Watch Video Solution

9x2 + 6kx + 4 = 0

9. Find the roots of the equation

Watch Video Solution

x2 + 2x − 143 = 0

https://dl.doubtnut.com/l/_fp7yLpcuUXag
https://dl.doubtnut.com/l/_pLLw1hFBnUo6


10. For what values of p the quadratic

equation  has equal

roots?

Watch Video Solution

3x2 + 12x + 4p = 0

11. If two tangents inclined at an angle of 

are drawn to a circle of radius  then the

length of each tangent is

Watch Video Solution

60∘

3cm

https://dl.doubtnut.com/l/_iK9MRea9SdwL
https://dl.doubtnut.com/l/_Ws4PS9n8J07o
https://dl.doubtnut.com/l/_UXMdeBFBLGF5


12.  is a tangent to a circle with centre  at

the point . If  is an isoceless triangle,

then  is equal to

Watch Video Solution

PQ O

P ΔOPQ

∠OQP

13. In the ABC, D and E are points on side AB

and AC respectively such that DE II BC. If

AE=2cm, AD=3cm and BD=4.5cm, then find CE.

Watch Video Solution

Δ

https://dl.doubtnut.com/l/_UXMdeBFBLGF5
https://dl.doubtnut.com/l/_mXlSXnfVMIAu
https://dl.doubtnut.com/l/_IJMkcEu12J1U


14. In the figure, if , and 

 have been marked at equal

distances. In what ratio C divides AB? 

Watch Video Solution

B1, B2, B3

A1, A2, A3, …. .

15. ,  =  and  is an

acute angle ,then find the value of .

Watch Video Solution

sin A + cos B = 1 A 30∘ B

B

https://dl.doubtnut.com/l/_IJMkcEu12J1U
https://dl.doubtnut.com/l/_FQZlolKO2Km2


16. If  =  and  = 2  ,then find 

Watch Video Solution

x 2 sin2 θ y cos2 θ + 1

x + y

17. In a circle of diameter 42 cm, if an arc

subtends an angle of  at the centre where 

 then what will be the length of arc?

Watch Video Solution

60∘

π =
22

7

https://dl.doubtnut.com/l/_FQZlolKO2Km2
https://dl.doubtnut.com/l/_TQx2b830N4Yg
https://dl.doubtnut.com/l/_zVrgiNMo0AwU
https://dl.doubtnut.com/l/_uLIZDXQdQN1X


18. 12 solid spheres of the same radii are made

by melting a solid metallic cylinder of base

diameter 2cm and height 16cm. Find the

diameter of the each sphere.

Watch Video Solution

19. Find the probability of getting a doublet in

a throw of a pair of dice. 

OR 

Find the probability of getting a black queen

https://dl.doubtnut.com/l/_uLIZDXQdQN1X
https://dl.doubtnut.com/l/_ZE74xBpq2gNh


when a card is drawn at random
 from a well-

shuffled pack of 52 cards

Watch Video Solution

20. Find the probability of getting a doublet in

a throw of a pair of dice. 

OR 

Find the probability of getting a black queen

when a card is drawn at random
 from a well-

shuffled pack of 52 cards

Watch Video Solution

https://dl.doubtnut.com/l/_ZE74xBpq2gNh
https://dl.doubtnut.com/l/_LQr25mgSeBfs


Part A Section Ii

1. SUN ROOM 

The diagrams show the plans for a sun room.

It will be built onto the wall of a house. The

four walls of the sunroom are square clear

glass panels. The roof is made using four clear

glass panels, trapezium in shape, all the same

size 

One tinted glass panel, half a regular octagon

in shape 

https://dl.doubtnut.com/l/_LQr25mgSeBfs
https://dl.doubtnut.com/l/_ROfiIm9dMMos


 


Refer to Top View 

Find the mid-point of the segment joining the

points J (6, 17) and I (9, 16).

A. 

B. 

C. 

D. 

( , )
33

2

15

2

( , )
3

2

1

2

( , )
15

2

33

2

( , )
1

2

3

2

https://dl.doubtnut.com/l/_ROfiIm9dMMos


Answer:

Watch Video Solution

2. Case Study based-1 

SUN ROOM 

The diagrams show the plans for a sun room.

It will be built onto the wall of a house. The

four walls of the sunroom are square clear

glass panels. The roof is made using four clear

glass panels, trapezium in shape, all the same

size 

https://dl.doubtnut.com/l/_ROfiIm9dMMos
https://dl.doubtnut.com/l/_JGSlrNm5cUkJ


One tinted glass panel, half a regular octagon

in shape 

 


Refer to Top View 

The distance of the point P from the y-axis is

A. 4

B. 15

C. 19

https://dl.doubtnut.com/l/_JGSlrNm5cUkJ


D. 25

Answer:

Watch Video Solution

3. SUN ROOM 

The diagrams show the plans for a sun room.

It will be built onto the wall of a house. The

four walls of the sunroom are square clear

glass panels. The roof is made using four clear

glass panels, trapezium in shape, all the same

https://dl.doubtnut.com/l/_JGSlrNm5cUkJ
https://dl.doubtnut.com/l/_xZn0FvYvS8vq


size 

One tinted glass panel, half a regular octagon

in shape 

 


Refer to Top View 

If a point (x, y) is equidistant from the Q(9, 8)

and S(17, 8), then

A. x+y=13

https://dl.doubtnut.com/l/_xZn0FvYvS8vq


B. x-13 =0

C. y-13=0

D. x - y = 13

Answer:

Watch Video Solution

4. A scale drawing of an object is the same

shape at the object but a different size. The

scale of a drawing is a comparison of the

length used on a drawing to the length it

https://dl.doubtnut.com/l/_xZn0FvYvS8vq
https://dl.doubtnut.com/l/_IT7Q2C7InjcE


represents. The scale is written as a ratio. The

ratio of two corresponding sides in similar

figures is called the scale factor. 

Scale factor= length in image / corresponding

length in object. 

If one shape can become another using

revising, then the shapes are similar. Hence,

two shapes are similar when one can become

the other after a resize, flip, slide or turn. In

the photograph below showing the side view

of a train engine. Scale factor is 1:200. 

https://dl.doubtnut.com/l/_IT7Q2C7InjcE


 


This means that a length of 1 cm on the

photograph above corresponds to a length of

200cm or 2 m, of the actual engine. The scale

can also be written as the ratio of two lengths.

If two similar triangles have a scale factor 5:3

which statement regarding the two triangles

is true?

A. 24 m

B. 3 m

https://dl.doubtnut.com/l/_IT7Q2C7InjcE


C. 6 m

D. 10 m

Answer:

Watch Video Solution

5. Case Study Based- 3 

Applications of Parabolas-Highway

Overpasses/Underpasses A highway underpass

is parabolic in shape. 

https://dl.doubtnut.com/l/_IT7Q2C7InjcE
https://dl.doubtnut.com/l/_Ip4u8lHyW1UG


 

Parabola 

A parabola is the graph that results from

 


 

Parabolas are symmetric about a vertical line

known as the Axis of Symmetry. The Axis of

p(x) = ax2 + bx + c

https://dl.doubtnut.com/l/_Ip4u8lHyW1UG


Symmetry runs through the maximum or

minimum point of the parabola which is called

the Vertex.

 


If the highway overpass is represented by

. Then its zeroes are

A. (2,-4)

B. (4,-2)

C. (-2,-2)

x2 − 2x − 8

https://dl.doubtnut.com/l/_Ip4u8lHyW1UG


D. (-4,-4)

Answer:

Watch Video Solution

6. Case Study Based- 3 

Applications of Parabolas-Highway

Overpasses/Underpasses A highway underpass

is parabolic in shape. 

https://dl.doubtnut.com/l/_Ip4u8lHyW1UG
https://dl.doubtnut.com/l/_bGbZYCLwZeNl


 

Parabola 

A parabola is the graph that results from

 


 

Parabolas are symmetric about a vertical line

known as the Axis of Symmetry. The Axis of

Symmetry runs through the maximum or

p(x) = ax2 + bx + c

https://dl.doubtnut.com/l/_bGbZYCLwZeNl


minimum point of the parabola which is called

the Vertex.

 


The highway overpass is represented

graphically. Zeroes of a polynomial can be

expressed graphically. Number of zeroes of

polynomial is equal to number of points where

the graph of polynomial

A. Intersects x-axis

https://dl.doubtnut.com/l/_bGbZYCLwZeNl


B. Intersects y-axis

C. Intersects y-axis or x-axis

D. None of these

Answer:

Watch Video Solution

7. Case Study Based- 3 

Applications of Parabolas-Highway

Overpasses/Underpasses A highway underpass

is parabolic in shape. 

https://dl.doubtnut.com/l/_bGbZYCLwZeNl
https://dl.doubtnut.com/l/_5Czyb8gGXFA4


 

Parabola 

A parabola is the graph that results from

 


 

Parabolas are symmetric about a vertical line

known as the Axis of Symmetry. The Axis of

Symmetry runs through the maximum or

p(x) = ax2 + bx + c

https://dl.doubtnut.com/l/_5Czyb8gGXFA4


minimum point of the parabola which is called

the Vertex.

 


Graph of a quadratic polynomial is a

A. straight line

B. circle

C. parabola

D. ellipse

https://dl.doubtnut.com/l/_5Czyb8gGXFA4


Answer:

Watch Video Solution

8. Case Study Based- 3 

Applications of Parabolas-Highway

Overpasses/Underpasses A highway underpass

is parabolic in shape. 

https://dl.doubtnut.com/l/_5Czyb8gGXFA4
https://dl.doubtnut.com/l/_EuaiRmo2cSP6


 

Parabola 

A parabola is the graph that results from

 


 

Parabolas are symmetric about a vertical line

known as the Axis of Symmetry. The Axis of

Symmetry runs through the maximum or

p(x) = ax2 + bx + c

https://dl.doubtnut.com/l/_EuaiRmo2cSP6


minimum point of the parabola which is called

the Vertex.

 


The representation of Highway Underpass

whose one zero is 6 and sum of the zeroes is

0, is

A. 

B. 

C. 

x2 − 6x + 2

x2 − 36

x2 − 6

https://dl.doubtnut.com/l/_EuaiRmo2cSP6


D. 

Answer:

Watch Video Solution

x2 − 3

9. Case Study Based- 3 

Applications of Parabolas-Highway

Overpasses/Underpasses A highway underpass

is parabolic in shape. 

https://dl.doubtnut.com/l/_EuaiRmo2cSP6
https://dl.doubtnut.com/l/_967kw513iCuT


 

Parabola 

A parabola is the graph that results from

 


 

Parabolas are symmetric about a vertical line

known as the Axis of Symmetry. The Axis of

Symmetry runs through the maximum or

p(x) = ax2 + bx + c

https://dl.doubtnut.com/l/_967kw513iCuT


minimum point of the parabola which is called

the Vertex.

 


The number of zeroes that polynomial

 can have is:

A. 1

B. 2

C. 0

f(x) = (x − 2)2 + 4

https://dl.doubtnut.com/l/_967kw513iCuT


D. 3

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_967kw513iCuT


10. Case Study Based- 4 

 100m

RACE A stopwatch was used to find the time

that it took a group of students to run 100 m. 

 


Estimate the mean time taken by a student to

https://dl.doubtnut.com/l/_0UMt0Y429SIu


finish the race. 

(i)54


(ii)63


(iii)43


(iv)50

A. 54

B. 63

C. 43

D. 50

Answer:

W t h Vid S l ti

https://dl.doubtnut.com/l/_0UMt0Y429SIu


Watch Video Solution

11. Case Study Based- 4 

100m RACE 

A stopwatch was used to find the time that it

took a group of students to run 100 m. 

 

What will be the upper limit of the modal

class?

A. 20

https://dl.doubtnut.com/l/_0UMt0Y429SIu
https://dl.doubtnut.com/l/_rgMQ6CrztrHD


B. 40

C. 60

D. 80

Answer:

Watch Video Solution

12. Case Study Based- 4 

100m RACE 

A stopwatch was used to find the time that it

took a group of students to run 100 m. 

https://dl.doubtnut.com/l/_rgMQ6CrztrHD
https://dl.doubtnut.com/l/_ymRubh1wruqN


 

The construction of cumulative frequency

table is useful in determining the

A. Mean

B. Median

C. Mode

D. All of these

Answer:

https://dl.doubtnut.com/l/_ymRubh1wruqN


Watch Video Solution

13. Case Study Based- 4 

100m RACE 

A stopwatch was used to find the time that it

took a group of students to run 100 m. 

 

The sum of lower limits of median class and

modal class is

A. 60

https://dl.doubtnut.com/l/_ymRubh1wruqN
https://dl.doubtnut.com/l/_9nICKu9W4hjJ


B. 100

C. 80

D. 140

Answer:

Watch Video Solution

14. Case Study Based- 4 

100m RACE 

A stopwatch was used to find the time that it

took a group of students to run 100 m. 

https://dl.doubtnut.com/l/_9nICKu9W4hjJ
https://dl.doubtnut.com/l/_ncZW3WfPQumv


 

How many students finished the race within 1

minute?

A. 18

B. 37

C. 31

D. 8

Answer:

https://dl.doubtnut.com/l/_ncZW3WfPQumv


Part B Section Iii

Watch Video Solution

1. 3 bells ring at an interval of 4,7 and 14

minutes. All three bell rang at 6 am, when the

three balls will the ring together next?

Watch Video Solution

2. Find the point on x-axis which is equidistant

from the points (2,-2) and (- 4,2).

https://dl.doubtnut.com/l/_ncZW3WfPQumv
https://dl.doubtnut.com/l/_i1VYQcsLtNvt
https://dl.doubtnut.com/l/_KrGDODcAZ1vT


Watch Video Solution

3. P(-3, 7) and Q(1, 9) are two points. Find the

point R on PQ such that .

Watch Video Solution

PR : QR = 1: 1

4. Find a quadratic polynomial whose zeroes

are 5-3 and 5+3 .

Watch Video Solution

√2 √2

https://dl.doubtnut.com/l/_KrGDODcAZ1vT
https://dl.doubtnut.com/l/_XWVSizmzxXBq
https://dl.doubtnut.com/l/_AIZTG6LOOfjK
https://dl.doubtnut.com/l/_8bYdQZLxnRES


5. Draw a line segment AB of length 9cm. With

A and B as centres, draw circles of radius 5cm

and 3cm respectively. Construct tangents to

each circle from the centre of the other circle.

Watch Video Solution

6. If , find the value of 

Watch Video Solution

tan A =
3

4

+
1

sin A

1

cos A

https://dl.doubtnut.com/l/_8bYdQZLxnRES
https://dl.doubtnut.com/l/_mQScs6CQt00P
https://dl.doubtnut.com/l/_4IeRbBKx4SGS


7. If  and 

find the value of 

Watch Video Solution

√3 sec θ − 2 tan θ = 0 0∘ < θ < 90∘

θ

8. In the figure, quadrilateral ABCD is

circumscribing a circle with centre O and

. If radius of incircle is 10cm, thenAD ⊥ AB

https://dl.doubtnut.com/l/_4IeRbBKx4SGS
https://dl.doubtnut.com/l/_PDdcGp1e1lkb


Part B Section Iv

the value of x is 

Watch Video Solution

https://dl.doubtnut.com/l/_PDdcGp1e1lkb


1. Prove that 2-  is irrational, given that 

is irrational

Watch Video Solution

√3 √3

2. If one root of the quadratic equation

 is,  then find the other

root of the equation.

Watch Video Solution

x2 + 6x + 2 = 0
2

3

https://dl.doubtnut.com/l/_8rjxJCGI8keY
https://dl.doubtnut.com/l/_Qa0D5wMxHaHG


3. The roots  and  of the quadratic equation

 are such that 

 Find the value k

Watch Video Solution

α β

x2 − 5x + 3(k − 1) = 0

α − β = 1.

4. In the figure, ABCD is a square of side 14 cm.

Semi-circles are drawn with each side of

square as diameter. Find the area of the

https://dl.doubtnut.com/l/_SFayrg13fadL
https://dl.doubtnut.com/l/_LUhQpwMdEGvw


shaded region. 

Watch Video Solution

https://dl.doubtnut.com/l/_LUhQpwMdEGvw


5. The perimeter of two similar triangles are 24

cm and 1 cm respectively. If one side of the first

triangle is 10 cm, then the corresponding side

of the second triangle is

Watch Video Solution

6. In an equilateral triangle ABC, D is a point

on side BC such that . Prove that 

.

Watch Video Solution

BD = BC
1

3

9AD2 = 7AB2

https://dl.doubtnut.com/l/_4wehagDZ20g7
https://dl.doubtnut.com/l/_qsAP4XSrGUd5


7. The median of the following data is 16. Find

the missing frequencies a and b, if the total of

the frequencies is 70. 

Watch Video Solution

8. If the angles of elevation of the top of the

candle from two coins distant 'm' cm and 'n'

cm ( ) from its base and in the same

straight line from it are  and  , then

m > n

30∘ 60∘

https://dl.doubtnut.com/l/_qsAP4XSrGUd5
https://dl.doubtnut.com/l/_30zJTtfkC6AY
https://dl.doubtnut.com/l/_mVdBqDjIiFz5


find the height of the candle.

Watch Video Solution

9. The mode of the following data is 67. Find

the missing frequency x. 

Watch Video Solution

https://dl.doubtnut.com/l/_mVdBqDjIiFz5
https://dl.doubtnut.com/l/_VAT8hqehybJR


Part B Section V

1. Two poles of equal heights are standing

opposite each other on either side of the road,

which is 80 m wide. From a point between

them on the road, the angles of elevation of

the top of the poles are and ,

respectively. Find the hei

Watch Video Solution

60o 30o

https://dl.doubtnut.com/l/_VAT8hqehybJR
https://dl.doubtnut.com/l/_QdfKt7ffwwIT


2. The angles of depression of the top and

bottom of a building 50 metres high as

observedfrom the top of a tower are

, respectively. Find the height of

the tower and also the horizontal distance

between the building and the tower.

Watch Video Solution

30∘ and 60∘

3. Water flows through a circular pipe whose

internal diameter is 2 cm, at the rate of 0.7 m

https://dl.doubtnut.com/l/_GHKbw7WaixLg
https://dl.doubtnut.com/l/_Pw6yQKCIv4SL


per second into a cylindrical tank, the radius of

whose base is 40 cm. By how much will the

level of water rise in the tank in half an hout ?

Watch Video Solution

4. A boat covers a distance of 14 km upstream

and 16 km downstream in 9 hours. It covers a

distance of 12 km upstream and 40 km

downstream in 11 hours. What is the speed (in

km/hr) of the boat in still water?

Watch Video Solution

https://dl.doubtnut.com/l/_Pw6yQKCIv4SL
https://dl.doubtnut.com/l/_z3nFgkCkch3L


Part A Section I

1. Express 156 as the product of primes.

Watch Video Solution

2. Write a quadratic polynomial, sum of whose

zeroes is 2 and product is -8

Watch Video Solution

https://dl.doubtnut.com/l/_z3nFgkCkch3L
https://dl.doubtnut.com/l/_jkimH0vFIwoc
https://dl.doubtnut.com/l/_tLMMt9RgjDN6
https://dl.doubtnut.com/l/_lalBRa9vUKxo


3. Given that HCF (96,404) is 4, find the LCM (

96,404)

Watch Video Solution

4. Fundamental Theorem of Arithmetic

Watch Video Solution

5. On comparing the ratios of the coefficients,

find out whether the pair of equations x – 2y

https://dl.doubtnut.com/l/_lalBRa9vUKxo
https://dl.doubtnut.com/l/_hBKZWJrAxIlU
https://dl.doubtnut.com/l/_eNCJnfuZJNAF


=0 and 3x + 4y -20 =0 is consistent or

inconsistent.

Watch Video Solution

6. If a and b are co-prime numbers, then find

the HCF (a, b)

Watch Video Solution

7. Find the area of a sector of a circle with

radius 6 cm if angle of the sector is 60o

https://dl.doubtnut.com/l/_eNCJnfuZJNAF
https://dl.doubtnut.com/l/_qS8YeKabRuX3
https://dl.doubtnut.com/l/_tsH89kGnAOHw


Watch Video Solution

8. A horse tied to a pole with 28m long rope.

Find the perimeter of the field where the

horse can graze. (take  = 22/7)

Watch Video Solution

π

9. In the given fig

DE ∣ ∣ BC, ∠ADE = 70∘ and ∠BAC = 60∘

https://dl.doubtnut.com/l/_tsH89kGnAOHw
https://dl.doubtnut.com/l/_gSRbFhPAR50y
https://dl.doubtnut.com/l/_CdaaVdJTU47s


then =……….


Watch Video Solution

∠BCA

10. In the following figure, AD=5.6 cm, AE=

 and 

, find AC. Given that 

(x + 1)cm, AB = 8.4cm

EC = (x − 1)cm

https://dl.doubtnut.com/l/_CdaaVdJTU47s
https://dl.doubtnut.com/l/_ZiV6dgusy3RB


. 


Watch Video Solution

DE ∣ ∣ BC

11. The cost of fencing a circular field at the

rate of Rs.24 per metre is Rs. 5280. Find the

radius of the field.

https://dl.doubtnut.com/l/_ZiV6dgusy3RB
https://dl.doubtnut.com/l/_f18uEho2NhZG


Watch Video Solution

12. A tree breaks due to storm and the broken

part bends so that the top of the tree touches

the ground where it makes an angle  . The

distance between the foot of the tree to the

point where the top touches the ground is 8m.

Find the height of the tree from where it is

broken.

Watch Video Solution

30∘

https://dl.doubtnut.com/l/_f18uEho2NhZG
https://dl.doubtnut.com/l/_gMTSsLQtMkdm


13. If the perimeter and the area of a circle are

numerically equal, then find the radius of the

circle

Watch Video Solution

14. Write the empirical relation between mean,

mode and median.

Watch Video Solution

https://dl.doubtnut.com/l/_vNrt0R1bBCyh
https://dl.doubtnut.com/l/_1cAPbpvMWMKd


15. To divide a line segment BC internally in the

ratio 3 : 5, we draw a ray BX such that  CBX is

an acute angle. What will be the minimum

number of points to be located at equal

distances, on ray BX?

Watch Video Solution

∠

16. For what values of p does the pair of

equations 4x + p y +8 =0 and 2x +2y +2 =0 has

unique solution?

https://dl.doubtnut.com/l/_pcCmy8zLaKze
https://dl.doubtnut.com/l/_fIWXlb1jAUnu


Watch Video Solution

17. Solve:  and 

Watch Video Solution

2x − 3y = 3 4x − 5y = 7

18. A bag contains 3 red balls and 5 black balls.

A
ball is drawn at random from the bag. What

is the probability that the ball
drawn is:
red (b)

black

Watch Video Solution

https://dl.doubtnut.com/l/_fIWXlb1jAUnu
https://dl.doubtnut.com/l/_AOXfsnJ7vTQ8
https://dl.doubtnut.com/l/_iZQiW4PilxPB


19. A die it
 thrown once. What is the

probability of getting a prime number?

Watch Video Solution

20. A tower stands vertically on the ground.

From a point on the ground, which is 

away from the foot of the tower, the angle of

elevation of the top of the tower is found to

be . Find the height of the tower.

Watch Video Solution

15m

60∘

https://dl.doubtnut.com/l/_fnxikfmPCNln
https://dl.doubtnut.com/l/_hv2j3hCXn7Rq


Part A Section Ii

21. Probability of an event E + probability of

the event not E is equal to ...............

Watch Video Solution

https://dl.doubtnut.com/l/_hv2j3hCXn7Rq
https://dl.doubtnut.com/l/_l4VbooDABDMV


1.  


Mathematics teacher of a school took her 10th

standard students to show Red fort. It was a

part of their Educational trip. The teacher had

interest in history as well. She narrated the

facts of Red fort to students. Then the teacher

said in this monument one can find

combination of solid figures. There are 2

pillars which are cylindrical in shape. Also 2

https://dl.doubtnut.com/l/_pYIed3nLU7tF


domes at the corners which are

hemispherical.7 smaller domes at the centre.

Flag hoisting ceremony on Independence Day

takes place near these domes. 

How much cloth material will be required to

cover 2 big domes each of radius 2.5 metres?

A. 

B. 

C. 

D. 

Answer: B

75m2

78.57m2

87.47m2

25.8m2

https://dl.doubtnut.com/l/_pYIed3nLU7tF


Watch Video Solution

2.  


Mathematics teacher of a school took her 10th

standard students to show Red fort. It was a

part of their Educational trip. The teacher had

interest in history as well. She narrated the

facts of Red fort to students. Then the teacher

said in this monument one can find

https://dl.doubtnut.com/l/_pYIed3nLU7tF
https://dl.doubtnut.com/l/_FbliEsYEDTWv


combination of solid figures. There are 2

pillars which are cylindrical in shape. Also 2

domes at the corners which are

hemispherical.7 smaller domes at the centre.

Flag hoisting ceremony on Independence Day

takes place near these domes. 

How much is the volume of a hemisphere if

the radius of the base is 3.5m?

A. 

B. 

C. 

πr2h

πrl

πr(l + r)

https://dl.doubtnut.com/l/_FbliEsYEDTWv


D. 

Answer: A

Watch Video Solution

2πr

3.  


Mathematics teacher of a school took her 10th

standard students to show Red fort. It was a

part of their Educational trip. The teacher had

https://dl.doubtnut.com/l/_FbliEsYEDTWv
https://dl.doubtnut.com/l/_Pe59o5NVYhs9


interest in history as well. She narrated the

facts of Red fort to students. Then the teacher

said in this monument one can find

combination of solid figures. There are 2

pillars which are cylindrical in shape. Also 2

domes at the corners which are

hemispherical.7 smaller domes at the centre.

Flag hoisting ceremony on Independence Day

takes place near these domes. 

Find the lateral surface area of two pillars if

height of the pillar is 7m and radius of the

base is 1.4m.

https://dl.doubtnut.com/l/_Pe59o5NVYhs9


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

112.2cm2

123.2m2

90m2

345.2cm2

https://dl.doubtnut.com/l/_Pe59o5NVYhs9


4.  


Mathematics teacher of a school took her 10th

standard students to show Red fort. It was a

part of their Educational trip. The teacher had

interest in history as well. She narrated the

facts of Red fort to students. Then the teacher

said in this monument one can find

combination of solid figures. There are 2

pillars which are cylindrical in shape. Also 2

https://dl.doubtnut.com/l/_pV2LmmIx7RTi


domes at the corners which are

hemispherical.7 smaller domes at the centre.

Flag hoisting ceremony on Independence Day

takes place near these domes. 

How much is the volume of a hemisphere if

the radius of the base is 3.5m?

A. 

B. 

C. 

D. 

Answer: D

85.9m3

80m3

98m3

89.83m3

https://dl.doubtnut.com/l/_pV2LmmIx7RTi


Watch Video Solution

5.  


Mathematics teacher of a school took her 10th

standard students to show Red fort. It was a

part of their Educational trip. The teacher had

interest in history as well. She narrated the

facts of Red fort to students. Then the teacher

said in this monument one can find

https://dl.doubtnut.com/l/_pV2LmmIx7RTi
https://dl.doubtnut.com/l/_f3ScNpKBEQlZ


combination of solid figures. There are 2

pillars which are cylindrical in shape. Also 2

domes at the corners which are

hemispherical.7 smaller domes at the centre.

Flag hoisting ceremony on Independence Day

takes place near these domes. 

What is the ratio of sum of volumes of two

hemispheres of radius 1cm each to the volume

of a sphere of radius 2 cm?

A. 

B. 

C. 

1: 1

1: 8

8: 1

https://dl.doubtnut.com/l/_f3ScNpKBEQlZ


D. 

Answer: B

Watch Video Solution

1: 16

6. Class X students of a secondary school in

Krishnagar have been allotted a rectangular

plot of a land for gardening activity. Saplings

of Gulmohar are planted on the boundary at a

distance of 1m from each other. There is a

traingular grassy lawn in the plot as shown in

https://dl.doubtnut.com/l/_f3ScNpKBEQlZ
https://dl.doubtnut.com/l/_oCgeJyaPcipN


the fig. The students are to sow seeds of

flowering plants on the remaining area of the

plot 

 


considering A as the origin what are the

coordinates of A

A. (0,1)

B. (1,0)

C. (0,0)

https://dl.doubtnut.com/l/_oCgeJyaPcipN


D. (-1,-1)

Answer:

Watch Video Solution

7. Class X students of a secondary school in

Krishnagar have been allotted a rectangular

plot of a land for gardening activity. Saplings

of Gulmohar are planted on the boundary at a

distance of 1m from each other. There is a

traingular grassy lawn in the plot as shown in

https://dl.doubtnut.com/l/_oCgeJyaPcipN
https://dl.doubtnut.com/l/_sfNHd6A6PYbp


the fig. The students are to sow seeds of

flowering plants on the remaining area of the

plot 

 


What are the coordinates of P

A. (4,6)

B. (6,4)

C. (4,5)

https://dl.doubtnut.com/l/_sfNHd6A6PYbp


D. (5,4)

Answer: D

Watch Video Solution

8. Class X students of a secondary school in

Krishnagar have been allotted a rectangular

plot of a land for gardening activity. Saplings

of Gulmohar are planted on the boundary at a

distance of 1m from each other. There is a

traingular grassy lawn in the plot as shown in

https://dl.doubtnut.com/l/_sfNHd6A6PYbp
https://dl.doubtnut.com/l/_XEmRGrCx3nSY


the fig. The students are to sow seeds of

flowering plants on the remaining area of the

plot 

 


What are the coordinates of R

A. (6,5)

B. (5,6)

C. (6,0)

https://dl.doubtnut.com/l/_XEmRGrCx3nSY


D. (5,4)

Answer:

Watch Video Solution

9. Class X students of a secondary school in

Krishnagar have been allotted a rectangular

plot of a land for gardening activity. Saplings

of Gulmohar are planted on the boundary at a

distance of 1m from each other. There is a

traingular grassy lawn in the plot as shown in

https://dl.doubtnut.com/l/_XEmRGrCx3nSY
https://dl.doubtnut.com/l/_NcSZlOp0Tm1e


the fig. The students are to sow seeds of

flowering plants on the remaining area of the

plot 

 


What are the coordinates of D

A. (16,0)

B. (0,0)

C. (0,16)

https://dl.doubtnut.com/l/_NcSZlOp0Tm1e


D. (16,1)

Answer: A

Watch Video Solution

10. Class IX students of a secondary school in

ganganagar have been allotted a rectangular

plot of a land for gardening activity. Saplings

of peepal are planted on the boundary at a

distance of 1m from each other. There is a

triangular grassy lawn in the plot as shown in

https://dl.doubtnut.com/l/_NcSZlOp0Tm1e
https://dl.doubtnut.com/l/_vZgXzOZ4wezv


the fig. 

 


Write down the coordinates of P in case of D is

assumed as origin

A. (12,2)

B. (-12,6)

C. (12,3)

D. (6,10)

https://dl.doubtnut.com/l/_vZgXzOZ4wezv


Answer: A::B

Watch Video Solution

11.  


Rahul is studying in X Standard. He is making a

kite to fly it on a Sunday. Few questions came

https://dl.doubtnut.com/l/_vZgXzOZ4wezv
https://dl.doubtnut.com/l/_5OySxRujxqsH


to his mind while making the kite. Give

answers to his questions by looking at the

figure 

Rahul tied the sticks at what angles to each

other?

A. 

B. 

C. 

D. 

Answer: C

30∘

60∘

90∘

60 ∘

https://dl.doubtnut.com/l/_5OySxRujxqsH


Watch Video Solution

12.  


Rahul is studying in X Standard. He is making a

kite to fly it on a Sunday. Few questions came

to his mind while making the kite. Give

answers to his questions by looking at the

https://dl.doubtnut.com/l/_5OySxRujxqsH
https://dl.doubtnut.com/l/_p86VG3LDh2JE


figure 

Which is the correct similarity criteria

applicable for smaller triangles at the upper

part of this kite?

A. RHS

B. SAS

C. SSA

D. AAS

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_p86VG3LDh2JE


13.  


Rahul is studying in X Standard. He is making a

kite to fly it on a Sunday. Few questions came

to his mind while making the kite. Give

answers to his questions by looking at the

figure 

https://dl.doubtnut.com/l/_p86VG3LDh2JE
https://dl.doubtnut.com/l/_Vz6ppYyd4zHS


Sides of two similar triangles are in the ratio

4:9. Corresponding medians of these triangles

are in the ratio,

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2: 3

4: 9

81: 19

16: 81

https://dl.doubtnut.com/l/_Vz6ppYyd4zHS
https://dl.doubtnut.com/l/_Y8EsClKWtHan


14.  


Rahul is studying in X Standard. He is making a

kite to fly it on a Sunday. Few questions came

to his mind while making the kite. Give

answers to his questions by looking at the

figure 

In a triangle, if square of one side is equal to

https://dl.doubtnut.com/l/_Y8EsClKWtHan


the sum of the squares of the other two sides,

then the angle opposite the first side is a right

angle. This theorem is called as,

A. Pythagoras theorem

B. Thales theorem

C. converse of Thales theorem

D. Converse of pythagoras theorem

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Y8EsClKWtHan
https://dl.doubtnut.com/l/_mCLRROyUwaYl


15.  


Rahul is studying in X Standard. He is making a

kite to fly it on a Sunday. Few questions came

to his mind while making the kite. Give

answers to his questions by looking at the

figure 

https://dl.doubtnut.com/l/_mCLRROyUwaYl


What is the area of the kite, formed by two

perpendicular sticks of length 6 cm and 8 cm?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

48cm2

14cm2

24cm2

96cm2

https://dl.doubtnut.com/l/_mCLRROyUwaYl


16. Due to heavy storm a electric wire got bent

as shown in the figure. It followed a

mathematical shape . Answer the following

questions below:

 


Shape of wire is :

A. Spiral

https://dl.doubtnut.com/l/_Uh5i9ID9rjOJ


B. Ellipse

C. Linear

D. Parabola

Answer: D

Watch Video Solution

17. Due to heavy storm a electric wire got bent

as shown in the figure. It followed a

mathematical shape . Answer the following

questions below:

https://dl.doubtnut.com/l/_Uh5i9ID9rjOJ
https://dl.doubtnut.com/l/_bMgy76dppCPQ


 


How many zeroes are there for the polynomial

A. 2

B. 3

C. 1

D. 0

Answer: A

https://dl.doubtnut.com/l/_bMgy76dppCPQ


Watch Video Solution

18. Due to heavy storm a electric wire got bent

as shown in the figure. It followed a

mathematical shape . Answer the following

questions below:

 


The zeroes of the polynomial are

https://dl.doubtnut.com/l/_bMgy76dppCPQ
https://dl.doubtnut.com/l/_gho3qprSF6jZ


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

−1, 5

−1, 3

3, 5

−4, 2

19. Due to heavy storm a electric wire got bent

as shown in the figure. It followed a

mathematical shape . Answer the following

https://dl.doubtnut.com/l/_gho3qprSF6jZ
https://dl.doubtnut.com/l/_13LGXVflcEui


questions below:

 


What will be the expression of the polynomial

A. 

B. 

C. 

D. 

x2 + 2x − 3

x2 − 2x + 3

x2 − 2x − 3

x2 + 2x + 3

https://dl.doubtnut.com/l/_13LGXVflcEui


Answer: C

Watch Video Solution

20. Due to heavy storm a electric wire got bent

as shown in the figure. It followed a

mathematical shape . Answer the following

questions below:

https://dl.doubtnut.com/l/_13LGXVflcEui
https://dl.doubtnut.com/l/_qtv4MsZeUZxT


 


What is the value of the polynomial if x=-1

A. 6

B. -18

C. 18

D. 0

Answer: D

https://dl.doubtnut.com/l/_qtv4MsZeUZxT


Part B Section Iii

Watch Video Solution

1. Find the coordinates of the point which

divides the line segment joining the points (4,

-3) and (8,5) in the ratio 3:1 internally.

Watch Video Solution

https://dl.doubtnut.com/l/_qtv4MsZeUZxT
https://dl.doubtnut.com/l/_knwdIGP8Y7Ms


2. Find a relation between x and y such that

the point (x ,y) is equidistant
 from the points

(7, 1) and (3, 5).

Watch Video Solution

https://dl.doubtnut.com/l/_3aHeHpRifvkh


3.  


In the fig. if LM || CB and LN || CD, prove that

Watch Video Solution

=
AM

AB

AN

AD

https://dl.doubtnut.com/l/_U51NyZ1XaBZu


4. A quadrilateral ABCD is drawn to

circumscribe a circle. Prove that

Watch Video Solution

AB + CD = AD + BC

5. Draw a line segment of length 7.8 cm and

divide it in the ratio 5:8. Measure the two

parts.

Watch Video Solution

https://dl.doubtnut.com/l/_Klf0rp62Q0bU
https://dl.doubtnut.com/l/_EHdyDbWnjxnp
https://dl.doubtnut.com/l/_EaFGHxhzQuIE


6. Given , find  and .

Watch Video Solution

15 cot A = 8 sin A sec A

7. Find tan P- cot R 

https://dl.doubtnut.com/l/_EaFGHxhzQuIE
https://dl.doubtnut.com/l/_jyyyCUPiSzmU


Part B Section Iv

Watch Video Solution

8. How many terms of the A.P. 9, 17, 25, …..must

be taken to give a sum of 636 ?

Watch Video Solution

1. Prove that  is an irrational number

Watch Video Solution

√3

https://dl.doubtnut.com/l/_jyyyCUPiSzmU
https://dl.doubtnut.com/l/_oAWWbn6e228T
https://dl.doubtnut.com/l/_Pf7ZhZDrjUEx


2. Two tangents PA and PB are drawn to a

circle with centre O from an external point P.

Prove that  

Watch Video Solution

∠APB = 2∠OAB

3. Meena went to a bank to
withdraw Rs 2000.

She asked the cashier to give her Rs 50 and Rs

https://dl.doubtnut.com/l/_Pf7ZhZDrjUEx
https://dl.doubtnut.com/l/_DVdhbFCpAwuh
https://dl.doubtnut.com/l/_2bamL9UEe8ov


100 notes
only. Meena got 25 notes in all. Find

how many notes Rs 50 and Rs 100 she

received.

Watch Video Solution

4. A box contains 90 discs which are numbered

from 1 to 90. If one disc is drawn at random

from the box, find the probability that it bears

(i) a two-digit number, (ii) a number divisible

by 5.

Watch Video Solution

https://dl.doubtnut.com/l/_2bamL9UEe8ov
https://dl.doubtnut.com/l/_8HvC8WWMM9XQ


5. A box contains 90 discs which are numbered

from 1 to 90. If one disc is drawn at random

from the box, find the probability that it bears

(i) a two-digit number, (ii) a number divisible

by 5.

Watch Video Solution

6. A box contains 90 discs which are numbered

from 1 to 90. If one disc is drawn at random

from the box, find the probability that it bears

https://dl.doubtnut.com/l/_8HvC8WWMM9XQ
https://dl.doubtnut.com/l/_oqc6Hnyq6Ruh
https://dl.doubtnut.com/l/_ukFx4wJ4Swuz


(i) a two-digit number, (ii) a number divisible

by 5.

Watch Video Solution

7. One card is drawn from a well shuffled deck

of cards . Find the probability of getting a king

of red colour .

Watch Video Solution

https://dl.doubtnut.com/l/_ukFx4wJ4Swuz
https://dl.doubtnut.com/l/_w6eVTiZ2VBEW


8. One card is drawn from a well shuffled deck

of 52 cards. Find the probability of getting 

A spade

Watch Video Solution

9. One card is drawn from a well - shuffled deck

of cards . Find the probability of getting the

queen of diamonds.

Watch Video Solution

https://dl.doubtnut.com/l/_lvW0VSldjVdY
https://dl.doubtnut.com/l/_Hg9I6pZATQIO
https://dl.doubtnut.com/l/_wq4o8tK2vzvP


10. Metallic spheres of radii 6cm, 8cm and

10cm respectively are melted to form a solid

sphere. Find the radius of the resulting

sphere.

Watch Video Solution

11. Prove that

Watch Video Solution

=
sin A − cos A + 1

sin A + cos A − 1

1

sec A − tan A

https://dl.doubtnut.com/l/_wq4o8tK2vzvP
https://dl.doubtnut.com/l/_O3C68QPJG0mj
https://dl.doubtnut.com/l/_U71Cp3MGlXCM


12. A motor boat whose speed in still water is

18 km/h, takes 1 hour more to go 24 km

upstream than to return downstream to the

same spot. Find the speed of the stream.

Watch Video Solution

13. Find two consecutive odd positive integers,

sum of whose squares is 290

Watch Video Solution

https://dl.doubtnut.com/l/_U71Cp3MGlXCM
https://dl.doubtnut.com/l/_x8pT6KhG2uQE


Part B Section V

1. The angles of depression of the top and

bottom of a 8m tall building from the top of a

multi storied building are 30° and 45°,

respectively. Find the height of the multi

storied building and the distance between the

two buildings.

Watch Video Solution

https://dl.doubtnut.com/l/_mB9XoPNjVLL5


2. A 1.2m tall girl spots a balloon moving with

the wind in a horizontal line at a height 88.2 m

from the ground. The angle of elevation of the

balloon from the eyes of the girl at any instant

is 60°.After sometime, the angle of elevation

reduces 30°.Find the distance travelled by the

balloon during the interval. 

Watch Video Solution

https://dl.doubtnut.com/l/_9dfROjKHLDIE


3. The pth, qth and rth terms of an A.P. are a, b

and c respectively. Show that a(q – r) + b(r-p) +

c(p – q) = 0

Watch Video Solution

4. A survey regarding the heights in (cm) of 51

girls of class X of a school was conducted and

the following data was obtained. Find the

median height and the mean using the

https://dl.doubtnut.com/l/_9dfROjKHLDIE
https://dl.doubtnut.com/l/_oaQMyBbvikfv
https://dl.doubtnut.com/l/_uiPxpCgT22u2


formulae 

Watch Video Solution

https://dl.doubtnut.com/l/_uiPxpCgT22u2

